Chapter 9 Practice Test

Adv Algebra
Name (< E \/ Period
y variegd ywwith x, and y = 3 when x = 12.
B )
a) Write the function that models this direct variation. 1a. V= X  er /y =0
Y k < (= kf l;,z ) [<_ A
=\ -
3
b) Find y when x = 6. 1b. /\/: 2

_ _ b
Y=y (e) -t
yvarie with x, and y = 3 when x = 12. 2L

a) Write the fulzctlon that models thls inverse variation. : >/ = X
y: > 12 (3)"()@{ QB
b) Find y when x = 6. . /V = (o

Y:ly (e

z varie@ with x and y, and z=24 when x =3 and y = 4.

a) Write the function that models this joint variation. 3a. = = QX\/

_ (Gd) = k(-0 \
Z—\<-><‘7/ 2‘1—_'% \7 //
b) Find zwhen x =6 and y = 5. ! LO

3b. A =
Z=— 2(LY 5 )
[ €= (oOi

The mass m of an object variewith the kinetic energy E of the object anwith
the square of the velocity v of the object. An object with a kinetic energy of 8 Joules and a

velocity of 2 m/s has a mass of 4 kg. ol
nm = ——
a) Write a mocLi/\eI for this variation. (DL 4a. V
= _
me B2 @)Dy weg @
V
at is the mass, in kg, of an object with a kinetic . m = q
b) Whatis th in kg, of bject with a kineti 4b L’ —)5

energy of 50 Joules and a velocity of 5 m/s?

(s0) .
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5. Draw the graph and asymptotes of the function y = 3 -2.
S Domain:(—oq) —|>U(~l)°°)

x#£ -

Xz all Real s except -/
Range: (-eo-2)u(-2,=0)
\/: all Real &< except =3

Horizontal asymptote:/ = -

Vertical asymptote: »x = — |

For questions 6 — 9, simplify completely and state any restrictions on the variable. Show work or
receive no credit.

Mus+ have & common denominator

3 Y5 T
6. .2, 2 6. lox
S 4x  12x
Leb: ;
@ 1 Lo - e y Restrictions: X Z O
12 \2x Z@X lox
<4
LecD. \/—\ Mus+ have & common denominator fo - ”X" 3
(x-% Yx—;) x? +x-3 3x ’(x-q) 7 Cx_g)(x_l-l)

+
x> -12x+32 x-8 (x-4)
(x-% Y4
Restrictions: X Z & Y4

x"#x-3 3@4)
(x-8)(x-4) (x-8)(x-H)

(A3, @E
(x-8)(x-4) x-8)(x-4)

4,2 Ilx-3
(-8)(x-4)
) X +3
8. %"9‘“9 8. x-3
X —
)
(x5D(x+2) X432 Restrictions: xZ 3.-3

(;@é)(x—z) - x-3

)



Do nod heed a coMmmon denominator

o (x+ 9)(x-2)
x> +8x+16 “x* +6x +8 . (x+2)

9. +
X+2 x2 -4

(><+u§(x+ 4) . (><+‘1)(x+:z) 3 Muliiply by +he Restrictions: _ X # -2 2 -
X+; B (X-\-:)(X D) ZcC'Pﬂxa( CL\-U-ILSL’ A-u\c-ws:m»-l-of(

(><+L4Y>>>'\LI) . (x\\\z)(x—ﬂ)
X+2 (xa4Y(R%2)
) )

(x+'-l>£;<__:2)

(x+2)
2 2>
X+2 10. 3x+ 4

10.  Simplify completely: ﬁ fer )
Lcp: +
— T D o)

x(x+3)
2
><4+2

) < 1 2(<+2)
K(<+2)  x(=<+2)

2
>X+2

)< <+ Yy
K(<+2) (=42

2 ]
><+2 2 . X (x43) R

T7 xrd . Rx+y 3+ Y
/

I+ Y
X (<+2)

Solve the following equations. Check each solution. Show work or receive no credit.
Canno+ Cross~—/"\u«l-l-fply. Thisis

hot & propor+ion Vef.
Lep: 1. 2 X 22 FF ! 1. X = -y
Ger Y1) x+1 x-1 x°-1
A AX= (x+1Y(x-1)
(i,\,xx-,). 2 X (,«.xy'f) _ 2 () Ched|x <Y Check k=1]
T RY X< ° GO N
' ! o 2 ., -4 _ 2 2 .1 . 2
20D+ x(x) = 2 (T @ T @ eT Gow T e G
a 2 - & 4+ L I 2
@2 + S - 2 R -
2 r. .~
x4+ 3x -2 = —Q _2s5, 4z _ 2 Uv\olcr.ne.-l
o =) 2 223 2 neeTinss
X #3x -4 = O sl L I3 2
(¥4 XYx - 1) = DO R R =
J 2 _ =
x=-Y X= 1 A Tf/

= Ex+vaneous



Canro+ Cross—/"\ul-l--‘ply. Thisis
hot a Fropor-h‘on \/e-l—.

. 12. +
Lcp: X+1 2x

2 x(X+ l\)

'\ 3x b Xlee) 7 ! Lx> - $x -8 =0
olh S+ 22 Beloee)) o F 2lloer)
\I ’19\/}.{ X, 2(3xg—q><——’~13 =)
Rx(3x) + G(x+) = %-2-(x+) 2(3x+23(x-—a) e
bx? 4 ﬁ,::p,a, = _1«-/\“)(;:)/

b - Pe-p - ——

& ProEor—HOV\I Crosj—w\o\lq. Fl/ 13. X: éso X = 2
CL\<clc Check x=2

>x—9x+I;=O 6 2 .

X(x-4 R(Ax=-0L L .2 2 .2
( > ( ) (x LY~ :23 206)-6 ~ (6)-4 2@)-¢ T =)=
—Hx = Yx | L 2 2= 2
2_gx4in = O R o
\/ - \\/
| . Canro+ Cv‘OSS-Mul-I--'Ply. Thisis
hot & propor+ion Vetf.
142X .i+§-f*_ﬂ = Feep ! 14. X=- Zo
Leo: X 27 x
R< | | | Check:
24+ s(<) = - (@A) Hor 5 -
+ S‘XQ = -2 SRR ¢
B Siliebity S SIS
T 2 3 237 ¢
= =BT
o [P A
e
G
l/
15. Given the table of values, answer the following questions.
X y 15a. Is the relationship between 15a. _1 NVERSE. AS +he
1 3 x and y a direct or inverse
variation? Justify your answer. X-Valnes inerease, +he \'/-Valul—f
2 1.9 -G -3
3 1 e :(2\('~552 J:CV(N( ]<= 3 .. COVAN D {lroz(uq.'
NCreasin decrenling le= (0 = ®
3 15b. Write the function that models 3
the data. 15b. V= >

/

Y= invevse

le.= )’-X



